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The figures in tte margin indicote full marks

for the qtestiotts

Ansu.pr either in English or in Assamese

1. Answer/Choose the correct answer of ttre
following ' lx 1O= 1O

FtrRR-scq<< usl fr{/lea E-e< <tR tfrs{ :

(d) What is Civil Service?

qmR-{ m-{rlRuqft1vlt

(b) Who can terminate the service of
members of State Public Service

Commission?

{&+ c{lrur{ qtglsK qrrrr{-{+ 6{tF
q'HrRs rR{ "nr{ ?
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(c)

(d)

(e)

From which word the term 'budget'
originated?

nrdb' .rqubn W< ft {q -rqr "Kr t<qr
Mention the period of financial year in
India.

q+5{ frAr !ft rysqr{t t-6F{ ?F{t r

In which year the Public Service
Commission was set up in India?

sFtev @F[6ffrT q-mfl csFt u-lis 1t{ q{I
?qRq r

Who is the author of the book, Essay in
Sociology?

Essay in Soaologg flQ1;Ft <ofttcl Cef+ I
@) Who first used the term 'development

administration?

frTr.r Erflqq' fizh 6{10 eerc <iirqn

+RRqr

From which word the term
'bureaucracy' originated?

tqmmoa'firtr fr,pi< "Kr tsr ?<s?

What do you mean by accountabilitSz?

nr<nu1fr6qftpr:

0 When was the Right to Information Act
of India enacted?

sFss E?t q*n qli-En qRqq-{ c+&'sl CqT{

T-{ kRq,

2. Answer the following questions :

EAK EIPFF< T-E< fttt :

(a) Mention two disadvantages

2x5= 1O

of

(b)

(c)

promotion by senioinity principle.

Grlsr A&s Gfre ftrrrcnnei fi qlcflKrq

Srffi €{r r

What is the difference between
education and training?

ftqtsr+ aftrm'n.fsfrr
Write two features of Civil Service.

qfiRs crffitt t<ftBifr{ r

(d.) Distinguish between surplus budget
and deficit budget.

<tR. <trsi qlT {rE fiqt< {lw arq fi'fu
F:III

(e) Mention two evils of Indian
bureaucracy.

sr"<Or qrlrers6{ tfi sm{Krq Uce.{ s'{ r

Write short notes on any four from the
following : 5x4=2O

ffiftsrrE< fi mm uREr< e'Fo u{ 6rsr foI :

(a) Control by the people on administration

a.lt Ft{ s'RE q{flq<q:{ ft{A.l
(b) Merits of direct recruitment

slsFF sr{sFr<$w5
(c) Budget as a tool of socio-economic

transformation
*q1-qNrks {'tlE<i qrRfl Rqr"r {rqt
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(d) Rill Act and good governance

RTI qR{ qr+ I-S'|I{{
(e) Problems of dwelopment administration

R-qrr s,flTflfiflc{a

4. Answer arry four questions from the
following: 1Ox4=40

qr ft crraql ufiA g:rr gq-{ fr{:
(a) What is Public Service Commission?

Discuss the Powers of Union Public
Service Commission.

@lFFrqiII qraH ftr cEft cqFpp6[ $ffirtzt

T{\,-E{qEr(E[EtT{ |

(b) Evaluate the promotion system followed

in India.

ww c5frs'rfira& ?tIc{K {{[T{ q{ t

(c) Discuss the importance of Civil Service

in modern State.

qfi{{EsqcnRt 6'tiIFI sfi qrFIIE{Tstl I

(d) Discuss the principles of budgeting'

{rqt s'IT{ ffifu{ A&q{{.q[qTFrq{ t

(e) What is Lokpal? Briefly discuss the

powers of LokPaI.

@IFF'ITdI fi,I cEFfiFK T{\3tl{q qtT
qlrdfFil iF{ |

A 'Financial Administration is the

backbone of Pubtc Administration'"
Elucidate.

'frQs lf'fltl-{ @lFperlmfl <tq{v l" <lKI frl I
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